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Jl 776,837
& 2,521,648
Al 7,253,876
SHEAY F™YE 23 11,146,723 5,707,250 5,439,473
= 806,470
J| 776,837
& 2,521,648
Al 7,041,768
SHASSU JIBtxH 5,896,450 507,840 5,388,610
o= 1,775,827
Al 4,120,623
WHEE 22&E A 69,764 70,000 A 236
101 e1214| 24,764 25,000 N 236
04 JI2tHI22NEES 24,764 25,000 A 236
OFAIFH BHAFH o2 4,764,000 4,764
OFAN HA 082 20,000,000 20,000
206 M = dl 5,000 5,000 0
01 X2 4| 5,000 5,000 0
OFAIZE ME 2L 5,000,000& 5,000
401 A& HI L 204 HI 40,000 40,000 0
01 Al&H| 40,000 40,000 0
O=gdlIsdH A E 40,000,000 40,000
sHsEHH X 90,500 85,500 5,000
201 Bt 68,500 63,500 5,000
01 AP 22| H| 32,500 32,500 0
OBt =2H| 20,000,000 20,000
OHES & Aoz = 5,000,000& 5,000
O3 &l 5,000,000& 5,000
oY= 2,500,000& 2,500
02 24| 36,000 31,000 5,000
02222 ¥ HMA 15,000,000 15,000
O & AF2t2| 5,000,000& 5,000
OXgEHe] 8,000,000& 8,000
O = H| 8,000,000 8,000
202 044l 10,000 10,000 0
01 2L I 10,000 10,000 0
o2 =& 0l 10,000,000& 10,000
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O=s&EAH J2F&A 3,000,000& 3,000
O=HE0tE=H AL FR=& 2,000,000& 2,000
OSUHRSY LMY PREX
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206 M= Hl 2,000 2,000 0
01 =8l 2,000 2,000 0
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OAMEA sHet0tE S AL X
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=2 Mol etMIBHEZE XA 114,953 82,340 32,613
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Al 67,619
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Al 8,600
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Al 40,847
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Al 40,847
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J| 10,590
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O= &l 3,000,000& 3,000
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202 odl 2,000 2,000 0
01 = LH o4 1l 2,000 2,000 0
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< 18,612
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< 450
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Al 1,050
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Al 1,050
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OFdE=Ye IsFAE XA 196,800, 000& 196,800
= 137,760
< 17,712
Al 41,328
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301 LEtEA S 18,000 18,000 0
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03 &AL2 I 6,000 0 6,000
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OHM HHWE Mz 7L 8,000,000& 8,000
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sgod S22l 38,500 4,000 34,500
201 Let249] 6,000 4,000 2,000
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Al 1,100
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< 10,800
Al 25,200
307 glz2+ol & 36,000 48,000 A 12,000
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= 1,500
Al 1,500
301 LEXZ 3,000 0 3,000
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SA - BB B () - MM - BES Ol &t o San HmEET
307 glz2tol & 35,040 34,080 960
J| 17,520
< 5,256
Al 12,264
02 P HAMHEE 35,040 34,080 960
OAI Ol&H HES=H 35,040,000& 35,040
J| 17,520
= 5,256
Al 12,264
E 42 HACCP HAEE XA (=0h) 5,600 0 5,600
J| 3,200
< 720
Al 1,680
307 21201 A 5,600 0 5,600
J| 3,200
< 720
Al 1,680
02 YAFAAFEE 5,600 0 5,600
OS4HEHACCP & E (=Dt) X 5,600,000 5,600
J| 3,200
< 720
Al 1,680
SE =58 K& 25,000 18,000 7,000
< 5,000
Al 20,000
307 gl2tol& 25,000 18,000 7,000
< 5,000
Al 20,000
02 It M AHE L 25,000 18,000 7,000
Oo=HE =&=4 XA 25,000,000& 25,000
< 5,000
Al 20,000
SUSTHHEA AMME ALY 2,000 1,000 1,000
< 600
Al 1,400
201 L2l 2,000 1,000 1,000
< 600
Al 1,400
01 At 22l 2,000 1,000 1,000
O/MIME EE2E XAtE ME S 2,000,000 2,000
< 600
Al 1,400
4=t ASAE EXIXA 8,000 4,000 4,000
< 1,600
Al 6,400
402 RIZ2FXt20l ™ 8,000 4,000 4,000
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SA - H .G (3AH) - MBAY - BES %Ei HR=2

= 1,600
Al 6,400

02 BIZtXIEANYEX(0OIETHH) 8,000 4,000 4,000
OALASEANE XX 8,000,000& 8,000
< 1,600
Al 6,400

AEANE F2H X 10,400 15,200 A4 800
< 2,080
Al 8,320

206 M = dl 10,400 15,200 A4 800
& 2,080
Al 8,320

01 X2 4| 10,400 15,200 AN 4,800
OFMEI ASAE N 10,400,000 10,400
= 2,080
Al 8,320

BYEsI A8Y WA 7,000 6,720 280
= 1,400
Al 5,600

206 M = Hl 7,000 6,720 280
& 1,400
Al 5,600

01 X Z H| 7,000 6,720 280
O=2Y MY HYsE S XNE 7,000,000 7,000
=} 1,400
Al 5,600

SOFNAEAIE MERS X 12,250 16,800 A4 550
= 2,450
Al 9,800

206 M = dl 12,250 16,800 AN 4,550
= 2,450
Al 9,800

01 X2 bl 12,250 16,800 A4 550
OSOHAIEAIY MERS 12,250,000& 12,250
o= 2,450
Al 9,800

SNsIF 2EH HIIE2 MelArg 4,500 5,250 AT50
o= 900
Al 3,600

301 et M= 4,500 5,250 AT750
=} 900
Al 3,600

12 JIEtE2 &= 4,500 5,250 AT750
oZg4d HII= HMeldl 4,500,000& 4,500
& 900
Al 3,600
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gAFASOH 2a U HE X2 5,000 6,000 A 1,000
1,000
Al 4,000

H

301 etE2H = 5,000 6,000 A 1,000

1,000
Al 4,000

H

12JEEd= 5,000 6,000 A 1,000
= =t 243 5,000,000& 5,000

1,000
Al 4,000

H

S =g BX 79,200 79,200 0
23,760
55,440

= H

301 LetEHS 79,200 79,200 0

23,760
55,440

= N

12 IIEtE2 4= 79,200 79,200 0
=9 =g 1,100,000 6 x 1200 & 79,200

23,760
55,440

= M

SHZz4 29 2 A=HE X 99,840 54,800 45,040
49,920
14,976
34,944

Z W

101 Q124 4] 80,000 39,800 40,200
40,000
12,000
28,000

=z N H

04012t 22 s+ 80,000 39,800 40,200
OJIZtHMZ2 2 X el
2,000,000& x4 «1004 & 80,000

40,000
12,000
28,000

= N H

N
2
e
%
M0
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o

14,840 5,000 9,840
7,420
2,226
5,194

= N W

01 Ar2 22l bl 9,840 0 9,840
ONE - SH=2 &, 248 S 9,840,000& 9,840
4,920

1,476
3,444

S3 234 5,000 5,000 0
OHE - SH=z=A RA2L 5,000,000 5,000

2,500
750

= M W

Mo




EAN: sS4t
HE: sSMY M 2
SRl s (29l 8)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
Al 1,750
206 M = Hl 5,000 10,000 A5,000
= 2,500
= 750
Al 1,750
01 XHZ H| 5,000 10,000 A5,000
OASUE, HEE8E & *¢ 5,000,000& 5,000
= 2,500
=} 750
Al 1,750
ts2AAS 50,000 50,000 0
206 M = dl 50,000 50,000 0
01 X2 bl 50,000 50,000 0
ONEHYY NG AT YAAE Y
13,000,000 13,000
023 ity ey 10,000,000 10,000
OJIFEHIGY oAl X 12,000,000 12,000
OSO0HAl EAHY et E 5,000,000& 5,000
OJi=22 gl 10,000, 000& 10,000
IIEaY ¢ 435 114,400 36,000 78,400
201 Bt 34,400 36,000 A 1,600
01 AP 22| H| 24,400 28,000 A 3,600
oJsgd 2 S M 50,000 604 3,000
OASAANIER - ASEES S ME
10,000 x200 2,000
OJI=EYEos /AN EFALE
80,000& 11 880
OMHME - sS|EH L=
500,000 63| 3,000
OJI=EAHE Al =2 400,000 205 8,000
OJIEY =2 1,500,000 1,500
OGN EA ADE 2 2,820,000& 2,820
O I MEA 2| 3,200,000& 3,200
02 Z2=2=24%4| 10,000 8,000 2,000
032322 % HA 10,000,000& 10,000
401 AlEHI L2 0hYI 80,000 0 80,000
01 Al& H| 80,000 0 80,000
OoJi=sgtd &1 2 XA AX 80,000,000 80,000
AYHEE Al =H| 45,000 35,000 10,000
301 et A= 45,000 35,000 10,000
12 JIEtE A2 45,000 35,000 10,000
OFHE Al HLES Al=H| 10,000,000 10,000
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L= B

el

SE
SEMY B L3
oh & e

SA - BB B () - MM - BES Ol &t o San HmEET
< 10,800
Al 25,200
201 LBH2E| 45,000 9,000 36,000
= 9,000
< 10,800
Al 25,200
01 At 22l 45,000 9,000 36,000
O&s4d3t+==(TNR) =2 45,000,000& 45,000
= 9,000
< 10,800
Al 25,200
RIls=2E254 2Y 54,000 79,000 225,000
< 10,800
Al 43,200
101 @124l 32,400 0 32,400
< 6,480
Al 25,920
04 D12t 22 HEE = 32,400 0 32,400
OJIZtH 22X eIl
2,700,000« 1H«12I1 & 32,400
< 6,480
Al 25,920
201 et 6,000 11,000 A5,000
< 1,200
Al 4,800
01 At 22l 6,000 6,000 0
O2AZHIIE L AM Hel =2 S
6,000,000& 6,000
= 1,200
Al 4,800
206 = Hl 6,000 28,000 A 22,000
< 1,200
Al 4,800
01 M2 4l 6,000 28,000 222,000
oOEsA 2¢ Mz 7Y 6,000,000& 6,000
< 1,200
Al 4,800
301 LEMZ 9,600 40,000 /30,400
< 1,920
Al 7,680
12 JIEBHE4 = 9,600 40,000 A 30,400
ogLrs=E X -3E - M 9,600,000& 9,600
< 1,920
Al 7,680
RIISEESL XM 22 103,800 60,000 43,800
101 124 dl 32,800 36,276 N 3,476
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SE
SEMY B L3
oh & e

SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
04 JI2ZtH 22 XNHEE =+ 32,800 36,276 N 3,476
OJI2tM 22X & B4
2,700,000& *1H x12J4 & 32,400
oORAX=H S 200,000 »2H 400
201 LEt2 Y| 33,000 18,724 14,276
01 AFR2t2l bl 28,000 8,724 19,276
oOESA 29 ARFE & ¢ 24,000,000& 24,000
Os=22s 22 HM&E S 4,000,000& 4,000
02 533294l 5,000 10,000 A5,000
oEBsA 298 | 5,000,000 5,000
206 M = dl 12,000 0 12,000
01 X bl 12,000 0 12,000
OAl2 & ¢ 12,000,000& 12,000
301 et X =2 26,000 5,000 21,000
12 JIEtE &2 26,000 5,000 21,000
ORJIES2 ATH HeldHls 6,000,000 6,000
ogsr s=2 &zl 20,000,000& 20,000
SE2SsEMALY 5,000 5,000 0
201 Bt A | 5,000 5,000 0
01 AP 22l Yl 5,000 5,000 0
OSE2SE =2 10,000& *5005 5,000
OFM(S) X8 & 22X & 7,500 0 7,500
< 1,500
Al 6,000
301 et X = 7,500 0 7,500
& 1,500
Al 6,000
12 JIEtE &2 7,500 0 7,500
OO0t = ZEHl K& 7,500,000 7,500
[ 1,500
Al 6,000
A 2SH 2L XA 1,260 0 1,260
& 252
Al 1,008
206 M = Hl 1,260 0 1,260
& 252
Al 1,008
01 M= bl 1,260 0 1,260
ogA PSH 7Ll 1,260,000& 1,260
& 252
Al 1,008
MNASHS dtels=2 daHl A& 18,000 0 18,000
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SAHS tteisS dZH X
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6,000
12,000

= M

TRUAEFAUL 20IH A K& 3,454 0 3,454
1,727

518
1,209

= W

206 M= Hl 934 0 934
467
140
327

= W

01 M= dl 934 0 934
O&HIE S ME 934,000& 934
467

140
327

=z W

301 LEENF 2,520 0 2,520
1,260
378
882

= W
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OANZIHF & Ay 2,520,000 2,520
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= N H

301 LetE2H =S 36,000 0 36,000
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8,400
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= N H
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5,820 0 5,820

_23_




SN mEAD
B SE4Y FM Ys
EE R (29 a8)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
= 1,164
Al 4,656
301 et A =2 5,820 0 5,820
= 1,164
Al 4,656
12 JIEtE2 A= 5,820 0 5,820
Otteis=2 sEHE XA 5,820,000& 5,820
& 1,164
Al 4,656
tEgd 11z X 40,000 0 40,000
= 20,000
=} 6,000
Al 14,000
405 KHoHFE S HI 40,000 0 40,000
= 20,000
& 6,000
Al 14,000
01 AL 2B F S| 40,000 0 40,000
oYy xte 2 40,000,000 40,000
= 20,000
& 6,000
Al 14,000
SESESHE AE 2 XS 10,000 0 10,000
= 2,000
Al 8,000
401 AIEHIZL 2 0HY| 10,000 0 10,000
= 2,000
Al 8,000
01 Al&H| 10,000 0 10,000
OBSA AMEMNESL S 10,000,000 10,000
& 2,000
Al 8,000
EMNH M2 2,130,197 2,275,416 A 145,219
= 50,000
J| 506,791
& 303,210
Al 1,270,196
TANSMAZ AFL2IXHE K& 549,000 486,000 63,000
J| 183,000
& 91,500
Al 274,500
301 et A =2 549,000 486,000 63,000
J| 183,000
& 91,500
Al 274,500
12 JIEtE A= 549,000 486,000 63,000

_24_




EAN: sS4t
B SE4Y FM Ys
CHel BaE MY (el @)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
OZANZSMAMAZ AFLZIXHE X
549,000,000 549,000
J| 183,000
o=t 91,500
Al 274,500
ZTAIESMAE D H &Y A 120,000 0 120,000
J| 30,000
== 27,000
Al 63,000
402 SI2F X201 M 120,000 0 120,000
J| 30,000
= 27,000
Al 63,000
02 CIZEXIEANSE X (0| XM THL) 120,000 0 120,000
OXZANSMAEZ JIHEH 2L 120,000,000 120,000
J| 30,000
= 27,000
Al 63,000
TANEMME SIHF2EY XS 39,767 121,800 A 82,033
J| 17,043
= 6,817
Al 15,907
307 QI2t01 & 39,767 121,800 A 82,033
J| 17,043
& 6,817
Al 15,907
02 QI2tAAMAIE E =X 39,767 121,800 A 82,033
OXANzMME SIH72EY XS 39,767,000 39,767
J| 17,043
= 6,817
Al 15,907
TAE SE 22 XN 10,500 0 10,500
Jl 5,250
o 1,575
Al 3,675
101 e1214| 10,500 0 10,500
J| 5,250
o= 1,575
Al 3,675
03 22X (RI|HEY) 22X E 2 10,500 0 10,500
OX At SEEIF o1 AH| 10,500,000 10,500
J| 5,250
& 1,575
Al 3,675
IIEER EIMHIAEZH XAS 86,500 0 86,500
J| 43,250
= 12,975
Al 30,275
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SN SEAD
HE: sSMY M 2
Sl BAYWAYS (S &2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
307 glz2tol & 86,500 0 86,500
J| 43,250
< 12,975
Al 30,275
02 P HAMHEE 86,500 0 86,500
OIN=EEn EIMHIAEH X 86,500,000& 86,500
J| 43,250
= 12,975
Al 30,275
stunesasa XA 280,800 243,379 37,421
J| 168,480
< 33,696
Al 78,624
301 LA S 280,800 243,379 37,421
J| 168,480
< 33,696
Al 78,624
12IJIEBE43 280,800 243,379 37,421
ostueraa N 280,800,000 280,800
J| 168,480
< 33,696
Al 78,624
StMSOHAHE X & 137,040 93,264 43,776
J| 59,480
< 17,844
Al 59,716
307 21201 A 137,040 93,264 43,776
J| 59,480
< 17,844
Al 59,716
02 It M AHE L 137,040 93,264 43,776
OOt E XA 137,040, 000& 137,040
J| 59,480
< 17,844
Al 59,716
2HEEXEH XA 576 0 576
J| 288
< 86
Al 202
402 RIZ2FX201 A 576 0 576
J| 288
= 86
Al 202
02 LA TEALEZ(0IETHR) 576 0 576
OZEEX &Y X& 576,000& 576
J| 288
< 86
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EAN: sS4t
B SE4Y FM Ys
ool BaAMAY S CERED
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
| Al 202
IIEMoEE XN& 31,750 53,000 N 21,250
< 6,350
Al 25,400
307 2Iz2to| & 31,750 53,000 N 21,250
= 6,350
Al 25,400
06 22 31,750 53,000 A21,250
OJJIEMollEE X& 31,750,000 31,750
=} 6,350
Al 25,400
ShASIF "l ALAED] AX K& 20,000 0 20,000
= 6,000
Al 14,000
402 SI2FXHE0| & 20,000 0 20,000
< 6,000
Al 14,000
02 BIZtXIEANYEX(0OIETH) 20,000 0 20,000
OFMsII HiaedE) X KNS
20,000,000 20,000
= 6,000
Al 14,000
EAsOF Y A 25,000 65,220 £40,220
= 5,000
Al 20,000
307 2iztol A 25,000 65,220 N40,220
& 5,000
Al 20,000
02 QIZ2IA AAIE E X 25,000 65,220 N40,220
OFAsIF 2F LA WA 25,000,000 25,000
= 5,000
Al 20,000
s =228 X 28,500 87,000 A 58,500
= 5,700
Al 22,800
307 QI2t0| ™ 28,500 87,000 A 58,500
& 5,700
Al 22,800
02 QI2tAAMAIE E =X 28,500 87,000 A 58,500
OIEEL ==& XN 28,500,000 28,500
& 5,700
Al 22,800
S AMAIE SHNH 6,000 9,000 A 3,000
== 1,200
Al 4,800
402 SI2F X201 M 6,000 9,000 A 3,000

_27_




SN SEMD
HE: sSMY M 2
el SaFMYs (ol @)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 1,200
Al 4,800
02 LA TEALEZ(0IETHR) 6,000 9,000 A 3,000
OSAMAIE ZHH 6,000,000 6,000
< 1,200
Al 4,800
SHRONE AL 5,000 10,000 A5,000
= 1,000
Al 4,000
307 21201 A 5,000 10,000 A5,000
< 1,000
Al 4,000
02 ItFAAFE R 5,000 10,000 A5,000
OAALRESHEIL 5,000,000& 5,000
< 1,000
Al 4,000
StRSEAEY 27,200 26,145 1,055
< 5,440
Al 21,760
307 gl & 27,200 26,145 1,055
< 5,440
Al 21,760
02 IZHEHAHE L 27,200 26,145 1,055
Ot SEAY 27,200,000& 27,200
< 5,440
Al 21,760
StRXM NS| MaEHS 20,000 31,300 211,300
< 4,000
Al 16,000
307 21201 A 20,000 31,300 A 11,300
< 4,000
Al 16,000
02 HAFHAANGFEX 20,000 31,300 211,300
Ot a5 didEcs N&E
20,000,000& 20,000
< 4,000
Al 16,000
SOtX Matd SHAFALY 9,100 11,718 N2,618
< 1,820
Al 7,280
307 glz2+ol & 9,100 11,718 N2,618
< 1,820
Al 7,280
02 IZtE A AMHEE 9,100 11,718 A2,618
OSO0HX MAM AT (HAS2ZH)
,100,000& 9,100
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N sE&N
HE: sSMY M 2
el SaFMYs (ol @)
. - . 4 =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 1,820
Al 7,280
DA MAI|BE AHAY 4,000 9,000 A5,000
= 800
Al 3,200
307 glz2tol & 4,000 9,000 A5,000
< 800
Al 3,200
02 (It HAMHEE 4,000 9,000 A5,000
O MAIE 4,000,000& 4,000
< 800
Al 3,200
ZAs0F A2 B X 30,000 48,744 18,744
< 6,000
Al 24,000
307 212+0| & 30,000 0 30,000
< 6,000
Al 24,000
02 HAFHAANGFEE 30,000 0 30,000
OsdsIt A=2EILH XN & 30,000,000& 30,000
< 6,000
Al 24,000
St X2 30,000 30,000 0
< 6,000
Al 24,000
307 21201 A 30,000 30,000 0
< 6,000
Al 24,000
02 IS AT ELS 30,000 30,000 0
Ogt=dH XA 30,000, 000& 30,000
< 6,000
Al 24,000
A RN 2224 & 5,760 0 5,760
S 1,440
Al 4,320
307 glz2tol & 5,760 0 5,760
< 1,440
Al 4,320
02 It M AHE X 5,760 0 5,760
OA SN B3EE24H 5,760,000& 5,760
= 1,440
Al 4,320
ey =42 AEH XY 2,800 2,000 800
< 560
Al 2,240
307 21240 2,800 2,000 800
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24 SEMD
HE: sSMY M 2
el EMFMHYS (sl &2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 560
Al 2,240
02 IZtE M AHEE 2,800 2,000 800
OzEd F4= o5H N& 2,800,000 2,800
< 560
Al 2,240
HAasgHg 20,808 28,910 A 8,102
= 3,708
Al 17,100
307 21201 A 20,808 28,910 A 8,102
< 3,708
Al 17,100
02 ItFAAFE R 20,808 28,910 A 8,102
OR*zsgzdE N 13,608,000 13,608
= 2,268
Al 11,340
osgHz XA 7,200,000& 7,200
< 1,440
Al 5,760
S=dHXAAG 66,000 60,000 6,000
< 13,200
Al 52,800
307 QI2+0 & 66,000 60,000 6,000
< 13,200
Al 52,800
02 QB AAFEX 66,000 60,000 6,000
OY =g XA 66,000,000 66,000
< 13,200
Al 52,800
= HAS XM2Il X XN 30,000 30,000 0
< 6,000
Al 24,000
402 DIZH R0 A 30,000 30,000 0
< 6,000
Al 24,000
02 2IZF 2 A EZ (01X TH ) 30,000 30,000 0
OJt= WA= H™eldl X XI&  30,000,000& 30,000
< 6,000
Al 24,000
HA MM BAXEH 1,736 0 1,736
< 347
Al 1,389
307 glz2+ol & 1,736 0 1,736
< 347
Al 1,389
02 It A AMHEE 1,736 0 1,736
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SA sEA4D
Ha: sEMY IWY 23
e REEEET CEEEED
= - 4 14
SN P SA(EN) - MBAY - BES e HlDE2
OgA Moy X 1,736,000& 1,736
< 347
Al 1,389
ASAH TN ALY 55,080 36,850 18,230
< 11,016
Al 44,064
402 212t X201 & 55,080 36,850 18,230
< 11,016
Al 44,064
02 RIZEXt2 AL EZ (OIS ) 55,080 36,850 18,230
OZS (e, ) X 35,630,000 35,630
< 7,126
Al 28,504
oxsg=ll X 1,000,000 1,000
= 200
Al 800
oOM2MELD XA 9,000,000 9,000
< 1,800
Al 7,200
oMz EdHI K& 1,950,000 1,950
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Al 1,560
OMZUX K& 7,500,000 7,500
< 1,500
Al 6,000
HEtd BEAMe N 16,000 7,000 9,000
< 3,200
Al 12,800
307 21201 A 16,000 0 16,000
< 3,200
Al 12,800
02 It S AHE L 16,000 0 16,000
Ozt X& 16,000,000& 16,000
< 3,200
Al 12,800
YEEIMNE 7Y NAY 4,680 0 4,680
= 936
Al 3,744
307 glz2tol & 4,680 0 4,680
< 936
Al 3,744
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402 RI2EX20| A 5,000 9,000 A 4,000
< 1,000
Al 4,000
02 QIZEHEAIL B (01X S) 5,000 9,000 A 4,000
ORE2F MSA4E X 5,000,000& 5,000
< 1,000
Al 4,000
sHAIIsAY(ASIE) 100,000 40,000 60,000
= 50,000
Al 50,000
402 RIZ2EXt20l ™ 100,000 40,000 60,000
= 50,000
Al 50,000
02 RIZt X2 AL EZ (OIS ) 100,000 40,000 60,000
OMMEE Sl 22 EEY ANEHE I
| 100,000, 000& 100,000
= 50,000
Al 50,000
St HHEAMZE A Iz MY 40,000 0 40,000
< 15,000
Al 25,000
402 RI2EXt20l ™ 40,000 0 40,000
< 15,000
Al 25,000
02 RIZE X2 AL EZ (OIS ) 40,000 0 40,000
Ot BHEtAtE 3HA Jl= AI® 40,000,000& 40,000
< 15,000
Al 25,000
25X+ 28 ZTEUHE Jlzs MY 16,000 16,000 0
< 6,000
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402 RI2EX20| M 16,000 16,000 0
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_32_




SN mEAD
M =EMQ AMA A3
ool BaAMAY S CERED
SA - BB B () - MM - BES Ol &t o San HmEET
02 =224l 3,600 6,600 A 3,000
03323 2 HA 3,600,000& 3,600
206 M= Hl 20,000 45,000 A 25,000
01 M2 4l 20,000 45,000 225,000
OYESI AHYNE M2 7
20,000,000& 20,000
SIREHE 4 115,000 105,000 10,000
201 LBt 2,000 2,000 0
01 At 22l 2,000 2,000 0
o8t 822 MH 2,000,000& 2,000
206 = Hl 33,000 23,000 10,000
01 =8l 33,000 23,000 10,000
ostEHE S=Z UL 2 30,000,000& 30,000
ostEdHE 228 Mg ¢ 3,000,000& 3,000
307 glz2tol & 80,000 80,000 0
02 IAtFAAHEX 80,000 80,000 0
OZFdIAIEER HAEH=S XA
70,000,000& 70,000
Onsy 24 23 Hedza A& 10,000,000 10,000
StAHE 4 X 55,000 45,000 10,000
307 21201 A 55,000 45,000 10,000
02 IZtE S AHE L 55,000 45,000 10,000
Oste AXNZE ALY 25,000,000& 25,000
OoZE+d FE3 A XN& 30,000,000& 30,000
HAFTIHSAS 26,000 30,000 A 4,000
307 21201 A 8,000 0 8,000
02 QIAFAAFEX 8,000 0 8,000
OHRA HEEX REFEN X 8,000,000& 8,000
402 QI2H X201 M 18,000 30,000 A 12,000
01 2I2E 2 A B (RERTH ) 18,000 30,000 A 12,000
ORA RF USHEI 2E X
18,000, 000& 18,000
=3 A3 40,000 0 40,000
402 RIZEXtE0| A 40,000 0 40,000
01 212t 2 A E = (REMTH ) 40,000 0 40,000
oZsdual K& 40,000,000& 40,000
s =EL 40,000 90,000 A 50,000
307 gl2tol & 40,000 0 40,000
02 It M AMHEE 40,000 0 40,000
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oxY w02 S2X& 20,000,000 20,000
ogE Ax2 X 20,000,000 20,000
o A (s=4t0H) 212,108 205,019 7,089
29| 70,308 80,899 A 10,591
A 2AH| 70,308 80,899 A 10,591
101 @1 21| 70,308 80,899 A 10,591
01 B2 70,308 77,485 ANTATT
o= 70,308
SYor=1 12,1243 43 x30 Al 2t 12& 17,459
o7g 10,952% *3H x30A| 2t*x12& 11,829
o83 9,832& x4 x30A| 2tx 128 14,159
o9z 8,887 x1H *x30A 2+ 12& 3,200
o Xl & A} 23,661
-218 20| &k 11,4333 *2H *30A| 2tx 122 8,232
-20= 20|05t 10,714 x»4H +30A| 2tx12& 15,429
24| 141,800 124,120 17,680
=44l 141,800 124,120 17,680
201 gBt2Ay| 60,000 52,920 7,080
01 AP 2t 2| bl 28,000 28,920 A 920
oYt dd| 20,000,000 20,000
oYXz 8,000,000 8,000
02 2% H| 32,000 24,000 8,000
02222 ¥ HMA 30,000, 000& 30,000
O = H| 2,000,000& 2,000
202 044l 70,560 60,480 10,080
01 2L I 70,560 60,480 10,080
o2&l 280,000 x12& «21H 70,560
203 SR F & 11,240 10,720 520
NP 4,000 4,000 0
OsgllsdEH2Y 4,000,000& 4,000
02 ERIIAH 2 F=AH| 3,040 2,520 520
O XS A& A AHH| 40,000 x76H 3,040
04 EASHEYRFAH| 4,200 4,200 0
OBN2II =8| 350,000 x12& 4,200
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